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From the following select the word which best express the meaning of the given word
(synonyms)

Eager

(A) clever (B) enthusiastic
(C) appealing (D) devoted
Gruesome

(A) frightening (B) tragic

(C) painful (D) hateful

From the sentence a underlined word give an alternative word which is closest to the opposite
in meaning (Antonyms)

The treaty was ratified by the heads of the state.

(A) accepted (B) unsettled
(C) destroyed (D) annulled
Always avoid late night driving.

(A) inspire (B) permit
(C) pursue (D) compel

In the following two sentences, two homonyms words are underlined, either misspelt or
inappropriate in reference select the answer.

1. Cannons are used in wars

2.The Geeta deals with high canons of morality and religions

(A) Only sentence 1 is correct (B) Only sentence 2 is correct

(C) sentence 1 and 2 both are correct (D) sentence 1 and 2 both are not correct
1. A painter is artiste.

2. Raj Kapoor is skilled artist

(A) Only sentence 1 is correct (B) Only sentence 2 is correct

(C) sentence 1 and 2 both are correct (D) Sentence 1 and 2 both are not correct
Select a suitable word, for the word or group of words given below.

To examine one’s own thoughts and feelings

(A) Meditation (B) Retrospection
(C) Reflection (D) Introspection
Life history of a person written by another

(A) autography (B) Biography
(C) Bibliography (D) Memories
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10.

11.

12.

13.

14.

15.

16.

Select the most proper word, to fill in the blank, in the sentence.

These essays are intellectually and represent various levels of complexity.

(A) revealing (B) modern

(C) superior (D) demanding
restrain and handle the situation peacefully.

(B) control

The soldiers are instructed to

(A) exercise

(C) prevent (D) remain
He kept the book the telephone.

(A) around (B) beside
(C) besides (D) at

This building comprises sixty rooms

(A) off B) to

(C) with (D) of

Select the proper words, to make the sentence more meaningful, in place of underlined
words, if needed.

He was bitten by the snake, walking in the garden

(A) as he walked in the garden (B) while he walked in the garden
(C) while he was walking in the garden (D) no improvement

Eve-teasing is not only moral offence but a crime punishable under the law.
(B) as also

(D) no improvement

(A) as well as
(C) but also
From the sentences mentioned below, which sentence is not correct?
1. eggs are sold by a dozen

2. the captain with his solders was killed.

3. he acquiesced in my proposal

4. why did you absent yourself from your classroom?

(A) sentence 1 is not correct (B) sentence 2 is not correct
(C) sentence 3 is not correct (D) sentence 4 is not correct
1. she had finished her work when I met her

2. Do you believe in God?

3. he cut his figure with a knife

4. he challenged me for a duel.

Comment

(A) sentence 1 is not correct

(C) sentence 3 is not correct

(B) sentence 2 is not correct

(D) sentence 4 is not correct
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Select the word/group of words (from a to d), for explaining the meaning of the idiom/
phrase in the sentence.

With regards to licensing policy, It is advisable for every state to cut the corner.
(A) become lenient (B) amend the existing policies
(C) exercise strict control (D) simplify the procedure

He is in the habit of responding at the drop of hat.

(A) thoughtfully (B) wisely

(C) without delay (D) foolishly

What is the meaning of ALU in computer field?

(A) arithmetic long unit (B) all longer units

(C) around logical units (D) Arithmetic and Logical units

What type of process creates a smaller file that is faster to transfer over internet
(A) compression (B) fragmentation

(C) encapsulation (D) none of the above

The term “Pentium” is related to

(A)DVD (B) HARD DISK

(C) Microprocessor (D) mouse

Which is the most powerful type computer?

(A) super computers (B) super frames

(C) super access (D) micro computers

Ubuntu is which type of operating system?

(A) open access (B) open source
(C) window based (D) mac based
Microsoft office does not include

(A) android (B) excel

(C) power point (D) word

LED, LCD, CRT, are the names related to different types of
(A) monitor (B) printer

(C) sound system (D) semiconductor

Print preview command is used when we want to
(A) Color the document

(B) save the document

(C) copy the document

(D) view how the document will appear when printed
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28.

29.

30.

31.

32.

33.

The process of trading goods on internet is known as-

(A) e-selling and e-buying (B) e-finance

(C) e-commerce (D) e-dealing
What type of keys are “ctrl” and “shift”

(A) adjustment (B) function

(C) modifier (D) alphanumeric

A train running at the speed of 60 km/hr. crosses a pole in 9 seconds. What is the length of
the train?

(A) 120 meters (B) 180 meters
(C) 324 meters (D) 150 meters

The population of a city increased from 175000 to 262500 in a decade. The average increase
in population is?

(A) 4.37% B) 5%
(©) 6% (D) 8.75%

In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run
rate in the remaining 40 overs to reach the target of 282 runs?

Study the data
Proportion of
P;rcenltatge of Males and Females
State opwaron Below Above
below the . .
Poverty Line |—roverty Line | Poverty Line
Y M:F M:F
P 35 5:06 6:07
Q 25 3:05 4:05
R 24 1:02 2:03
S 19 3:02 4:03
T 15 5:03 3:02
(A) 6.25 (B) 6.5
(©) 6.75 D) 7.00

If the male population above poverty line for State R is 1.9 million, then the total population
of State R is?

(A) 4.5 million (B) 4.8 million
(C) 5.35 million (D) 6.25 million

What will be the number of females above the poverty line in the State S if it is known that
the population of State S is 7 million

(A) 3.0 million (B) 2.43 million
(C) 1.33 million (D) 5.7 million
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34.

3s.

36.

37.

38.

39.

40.

41.

Z invested an amount of Rs. 13,900 divided in two different schemes, A and B at the simple
interest rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple interest
earned in 2 years be Rs. 3508, what was the amount invested in Scheme B?

(A) 6400 (B) 6500

(C) 7200 (D) 7500

It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?
(A) Sunday (B) Saturday
(C) Friday (D) Monday
Find the odd man out.

8, 27, 64, 100, 125, 216, 343

(A) (B)

© (D)

Find the odd man out.

2,5,10, 17,26, 37, 50, 64

(A) (B)

©) (D)

A, B, C subscribe Rs. 50,000 for a business. A subscribes Rs. 4000 more than B and B Rs.
5000 more than C. The profit is to be distributed in the ratio of capital invested. Out of a
total profit of Rs. 35,000, A receives:

(A) 6400 (B) 11900
(C) 13600 (D) 14700

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it
for Rs. 3200. With the help of C, they completed the work in 3 days. How much is to be
paid to C?

(A) 375 (B) 400
(C) 600 (D) 800

The ratio between the length and the breadth of a rectangular park is 3: 2. If a man cycling
along the boundary of the park at the speed of 12 km/hr. completes one round in 8§ minutes,
then the area of the park (in sq. m) ?

(A) 15360 (B) 153600

(C) 30720 (D) 307200

Economic liberalization in India started with

(A) substantial change in industrial policy

(B) the convertvertibility of Indian rupee

(C) doing away with procedural formalities for foreign direct ax rates.

(D) significant reduction in tax rates
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42.

43.

44.

45.

46.

47.

Which organization brings out ‘“Energy Statics’” from time to time?

(A) central statistics Organisation, MOSPI (B) Central Power Research Institute
(C) NITI Aayog (D) Power Finance Corpo

The SEZ Act 2005 came in to effect with certain objectives.

1. Development of infrastructure facilities

2. Promotion of investment from foreign countries

3. Promotion of export of services only.

What is the objective of the act?

(A)1and 2 (B) 3 only

(C) 2 and 3 only (D) 1,2, and 3 only

The concept of’ Inclusive Growth’ does not include

(A) reduction of poverty (B) extension of employment opportunity
(C) strengthening share market (D) Reduction of Gender inequality.

Rise in general level of price may be caused because of

1. increase in money supply

2. decrease in level of supply

3. increase in demand.

Which is correct answer?

(A) 1 only (B) 1 and 2 only
(C) 2 and 3 only (D) 1, 2 and 3 only
To reduce the deficit in the budget which steps are taken by the Government?
1. reduce revenue expenditure

2. introduce new welfare schemes

3. rationalalizing the subsides.

4. expanding the industries.

Which is correct answer?

(A)land3 B)1,2and 3
©)1,2,3and 4 (D) 1,2 and 4

Which state is situated at 20° 6' N t° 24° 42' N (north latitude) and 68° 10’E to 74° 28’E
(east longitude)

(A) Gujarat (B) Maharashtra
(C) Rajasthan (D) MadhyaPradesh
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48. The state of Gujarat was recognized on

(A) 1* January 1960 (B) 1 May 1960
(C) 1** May 1961 (D) 1 July 1960
49. At present how many districts are there in Gujarat?
A)31 (B) 32
(©)33 (D) 34
50. Percentage of Rural and urban population to total population in the nation is
(A) 68.9 and 31.1 (B) 58.9 and 41.1
(C) 31.1 and 68.9 (D) 41.1 and 58.9
51. The earth is at its maximum distance from the Sun on
(A) 30" January (B) 22" September
(C) 22" December (D) 4 July
52. What is the unit of measurement of distance of stars from earth?
(A) fathoms (B) nautical miles
(C) kilometers (D) light year
53. When the humidity is expressed as a percentage, it is called
(A) absolute humidity (B) specific humidity
(C) percentage humidity (D) relative humidity
54. What is tornado?
(A) a very high pressure Centre (B) a very low pressure at center
(C) a very high pressure ocean wave (D) a planetary wind.

55. The largest desert in the world is
(A) Sahara (B) Gobi
(C) Kalahari desert (D) Australian desert
56. Places associated with sports and games-which pair from the following pairs is not correct
(A) cricket = Brisbane and Sidney Australia
(B) foot ball = Moinul Haqqua stadium Patna
(C) hockey = Yadavindra Stadium Lucknow
(D) tennis = Wimbledon

57. As per Indian Council of Agriculture Research classification Indian soils are classified in

to
(A) 7 parts (B) 8 parts
(C) 9 parts (D) 10 parts

ARF -A] 9 P.T.O.



58. From the following pairs which pair is not correct showing National Park and the state
(A) Rani Jhansi Marine park = Andaman (B) Kaziranga = Assam
(C) Indravati = Chhatisgadh (D) None of these

59. For the JUTE crop, which statement form the following is not relevant
(A) obtained from bast of a plant.
(B) crop need humid atmosphere
(C) it is exhaustive crop and lowers the fertility of land very rapidly.
(D) it is the biggest foreign exchange earner today.

60. Major power project and the river connected
From the following select incorrect pair.
(A) nagaarjuna Sagar multipurpose project = Krishana
(B) ponchampad project = Godavari
(C) kakarpara project = Narmada
(D) Bhakra Nangal multipurpose project = Sutlej

61. The highest density of populations per 2011 census is in which state?
(A) Maharashtra (B) Bihar
(C) Gujarat (D) Assam

62. Which are main Sources of Renewable Energy?
1. Solar energy
2. wind energy
3. hydel energy

4. Geothermal and Biomass energy

(A)1and 2 (B)2,3and 4
©)1,2,3and 4 (D)1,2and 3
63. What of the following is used as moderator in nuclear reactor?
(A) thorium (B) graphite
(C) radium (D) ordinary water
64. For CNG - COMPRESSED NATURAL GAS, from the following which statement is not
correct?

(A) it is natural gas under pressure
(B) it remains clear, odourless, and non-corrosive

(C) it is cheaper, greener, and more efficient alternative to the traditional petrol and diesel
fuels for vehicles.

(D) thereis no need to convert the vehicles to use CNG fuel.
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65.

66.

67.

68.

69.

70.

71.

72.

73.

In our nation population Census is undertaken by
(A) Census commissioner Govt.of Gujarat state
(B) Census commissioner Govt.of India

(C) Planning commission

(D) united Nations.

The last population census took place in

(A) 2011 (B) 2010

(C) 2012 (D) 2013

In the last census the percentage share of population for Gujarat was
(A)4.0 (B) 4.5

©)s.0 (D)Ss.5

As per last census, the state with the highest sex ratio is

(A) Andhra Pradesh (B) Assam

(C) Kerala (D) Haryana

The child sex of Gujarat state is

(A) 790 (B) 890

(©) 990 (D) None of above

The state the lowest density of population in India is

(A) nagaland (B) tripura

(C) Mizoram (D) Arunachal Pradesh

What is the objective of Street Vendor Act?

1. protection of lively rights and social security

2. demarcation of vending zone

3. conditions for and restrictions on street vending

Which of the above statement/s is correct?

(A) only 1 (B) only 2

(C)only 3 MD)12and3

Which state is the first fully Organic State?

(A) Sikkim (B) Maharashtra

(C) Gujarat (D) Goa

Smart city scheme do not have the concept, from the points mentioned below.
(A) area based development (B) basic service provider

(C) People participatory approach (D) social harmony

ARF -A] 11 P.T.O.



74.

75.

76.

77.

78.

In National Pension scheme which is not included in the Salient features from the following.
(A) all Indian citizen between age group of 18 to 60 years can join the scheme

(B) there are 3 types of account.

(C) to provide retirement income to all the citizens

(D) this will help the investor to take risk for the investment

The Pradhan Mantri Jan Dhan Yojana (PMJDY) aimed at certain goals. From the following
which is not a goal of the scheme.

(A) Financial inclusion and access to financial services for all households

(B) Any individual above the age of 10 years and does not have a bank account can open a
bank account without depositing any money.

(C) depositor can have saving /deposit account
(D) introduction from bank account holder is must.

Pradhan Mantri MUDRA Yojana (PMMY) -read the following statements. Which
statement/s is/are correct?

1. to provide funding to the non-corporate small business sector.

2. The small businesses/startups or entrepreneurs can avail loans from Rs. 50 thousand to
10 Lakh to start/grow their business.

(A) 1 statement is correct (B) 2 statement is correct
(C) both 1 and 2 statement are correct (D) both 1 and 2 statement are not correct

For Sansad Adarsh Gram Yojana (SAGY,), read the following statements. Which statement/
s is/are correct?

1. Social, cultural, economic, infrastructure developments in the villages,

2. Under the Yojana, Members of Parliament (MPs) will be responsible for developing the
socio-economic and physical infrastructure of three villages each by 2019, and a total of
eight villages each by 2024.

(A) 1 statement is correct (B) 2 statement is correct
(C) both 1 and 2 statement are correct (D) both 1 and 2 statement are not correct
From the following, Which is not the part of Shravan Tirthdarshan Yojana?

(A) the government would provide subsidy on tirth yatra expenses for senior citizens. Under
the Shravan Tirthdarshan Yojana, the state government would pay 50% of the cost of
travel expense by non-AC state transport bus, within the state

(B) The scheme is to help the senior citizens cover all the popular religious destinations in
the state.

(C) Senior citizen belonging to any community can avail the scheme benefits

(D) this is applicable to all citizens of India.
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79.

80.

81.

82.

83.

From the following, Which is not the part of Doodh Sanjeevani Yojana?
(A) an initiative of state Government of Gujarat to tackle malnourishment

(B) Under the Yojana, the primary school children in these three districts will get flavored
milk with their midday meal.

(C) The students will be provided a pouch containing 200ml of flavored milk for the five
days a week.

(D) for students up to 10™ class, Milk scheme is introduced for providing milk tothem twice
in a week.

For, read the following statements and which statement/s is/are not correct for ASSOCHAM

(A) .ASSOCHAM has more than 400 Chambers and Trade Associations, and serving more
than 4,50,000 members from all over India.

(B) ASSOCHAM is working towards creating a conducive environment of India business
to compete globally

(C) It was established in 1940

(D) ASSOCHAM members represent, Trade (National and International), Industry
(Domestic and International), Professionals (e.g. CAs, lawyers, consultants) and Trade
and Industry Associations and other Chambers of Commerce.

Read the following statements and whichstatement/s is/are not correct for The Gujarat
Chamberof Commerce & Industry [GCCI]

(A) 4000 direct members which include over 200 Trade and Industry Associations

(B) GCCI aims at giving the whole policy making process a more holistic through intra
and inter-industry.

(C) GCCl is registered as a company under the Indian Companies Act.

(D) GCCI also extends its expertise, experience and feedback at numerous platforms,
committees, councils, commissions and other bodies to facilitate business processes.

Read the following statements and which statement/s is/are correct not for The National
Association of Software and Service Companies (NASSCOM)

(A) The National Association of Software and Service Companies (NASSCOM) is the
industry association for the IT-BPM sector in India

(B) . It was set up in 1988 and registered under the Indian Societies Act,1860
(C) NASSCOM is headquartered in Bengaluru, India,

(D) A not-forprofit organization funded by the industry, its objective is to build a growth-
led, sustainable, technology and business services segment in the country

OUR CONSTITUENT ASSEMBLY HEREBY ADOPT, ENACT AND GIVE TO
OURSELVES THIS CONSTITUTION on

(A) 26" Nov.,1949 (B) 26™ Dec., 1949
(C) 15" August 1950 (D) 26™ January 1947
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84.

8s.

86.

87.

88.

89.

90.

91.

92.

SOVEREIGN DEMOCRATIC REPUBLIC words came in to force with effect from”
(A) 3-1-1977 B) 3-2-1977
(C) 3-3-1977 (D) 3-4-1977

Preamble. 1. (1) ‘India, that is Bharat, shall be a Union of States’ this is mentioned in which
article of Indian constitution?

A) 1(1) (B) 2
©3 (D) 4

The provision for Admission or establishment of new States.Is made in which article of
Indian constitution.

(A)2 (B) 12
(© 22 (D) 32

The precision for Citizenship, at the commencement of the Constitution is made in which
article of Indian constitution?

(A)4 B) 5

(&)X (D)7

The definition of ‘The State’ is mention in which articleof Indian constitution?
(A)10 B)11

(©) 12 (D) 13

The fundamental right‘Prohibition of discrimination on grounds of religion, race,caste,
sex or placeof birth’. Is mention in which articleof Indian constitution?

(A) 14 B) 15
(C) 16 (D) 13

‘All citizens shall have the right- to freedom of speech and expression’; is given to citizen
under which article?

A) 19 (B) 18
©) 17 (D) 16

Right to education is given by which article of Indian constitution?

(A) 20 (B) 21
(C)21-A (D) 22

‘DIRECTIVE PRINCIPLES OF STATE POLICY’ is mentioned in which part
(A)3 (B) 4

©5 D)6
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93.

9.

9s.

96.

97.

98.

99.

100.

‘The State shall take steps to organize village panchayats and endow them with such powers
and authority as may be necessary to enable them to function as units of self-government
‘This provision is mentioned under which Article of Indian constitution?

(A) 39 (B) 40
(OX) (D) 42

It shall be the duty of every citizen of India - to uphold and protect the sovereignty, unity
and integrity of India;

This provision is mentioned under which Article of Indian constitution?
(A) 50 (B) 51A

(C)52 (D) 53

‘There shall be a President of India’.

This provision is mentioned under which Article of Indian constitution?

(A) 50 B) 51

(C) 52 (D) 53

The President shall hold office for a term of how many years?
(A)7 (B)6

©)5 (D) 4

‘The Vice-President to be ex officio Chairman of the Council of States’. This provision is
mentioned under which Article of Indian constitution?

(A) article-62 (B) article-63
(C) article -64 (D) article-65

There shall be a Parliament for the Union which shall consist of the President and two
Houses to be known respectively as the Council of States and the House of the People.

This provision is mentioned under which Article of Indian constitution?
(A) article 78 (B) article 79
(C) article -80 (D) article-81

The disqualification for being chosen as, and for being, a member of either House of
Parliament is mentioned under which Article of Indian constitution?

(A) 100 (B) 101
(C) 102 (D) 103

The validity of any proceedings in Parliament shall not be called in question on the ground
of any alleged irregularity of procedure.

This provision is mentioned under which Article of Indian constitution?
(A) article 121 (B) article 122
(C) article-123 (D) article-124
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101.

102.

103.

104.

10s.

106.

107.

108.

Prohibition of traffic in human beings and forced labour.

This provision is mentioned under which Article of Indian constitution?
(A)23 B) 22

(©)24

(©)25

Establishment and constitution of Supreme Court’ *This provision is mentioned under
which Article of Indian constitution?

(A) 122 (B) 123

(©) 124 (D) 125

Comptroller and Auditor-General of India is appointed by

(A) The president (B) prime minister
(C) finance minister (D) finance secretary

Subject to the provisions of this Constitution, the Supreme Court shall, to the exclusion of
any other court, have original jurisdiction in any dispute—

1. between the Government of India and one or more States; or

2. between the Government of India and any State or States on one side and one or more
other States on the other; or

3. between two or more States,
4. None of These

This provision is made in which Article of Indian constitution?

(A) 129 (B) 130

©)131 (D) 132

Judge may, by writing under his hand a letter, resign from his office,by writing to
(A) chief justice (B) prime minister

(C) the President (D) law minister.

‘Special leave to appeal by the Supreme Court’

This provision is mentioned under which Article of Indian constitution?
(A) 136 (B) 137

(©C) 138 (D) 139

Comptroller and Auditor-General of India. Is appointed under which Article of Indian
constitution?

(A) 145 (B) 146

(C) 147 (D) 148

The Governor of a State shall be appointed by :

(A) the President (B) the prime minister
(C) law minister (D) finance minister
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109.

110.

111.

112.

113.

114.

115.

116.

who appoint a person, who is qualified to be appointed a Judge of High Court, to be
Advocate-General for the State

(A) law minister of the state (B) chief minister of the state
(C) prime minister (D) The Governor of each State

The‘Qualificationfor membership of the State Legislature’ provision is mentioned under
which Article of Indian constitution?

(A) 171 (B) 172
©)173 (D) 174

‘Administration of Union territories’ this provision is mentioned under which Article of
Indian constitution

(A) 239 (B) 240
(6241 (D) 242

“Gram Sabah” means a body consisting of persons registered in the electoral rolls relating
to a village comprised within the area of Panchayat at the village level;

This provision is mentioned under which Article of Indian constitution?
(A)243d (B)243 ¢
(C)243b (D)243 a

Administration of Scheduled Areas and Tribal Areas is governed under which Article of
Indian constitution

(A) 244 (B) 245
(C) 246 (D) 247

‘There is a Control of the Union over States in certain cases’ this provision is mentioned
under which Article of Indian constitution?

(A) 255 (B) 256
(C) 257 (D) 258

‘Parliament may by law establish a Contingency Fund in the nature of an imprest to be
entitled “the Contingency Fund of India” into which shall be paid from time to time such
sums as may be determined by such law.’

This provision is mentioned under which Article of Indian constitution?

(A) 266 (B) 267
(C) 268 (D) 269
‘The All-India services’ provision is mentioned under which Article of Indian constitution?
(A) 309 (B) 310
©)3n (D) 312
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117.

118.

119.

120.

121.

122.

123.

124.

‘Superintendence, direction and control of elections to be vested in an Election Commission’
This provision is mentioned under which Article of Indian constitution?

(A) 323 (B) 324

(C) 325 (D) 326

‘Public Service Commissions for the Union and for the States’ this provision is mentioned
under which Article of Indian constitution?

(A) 310 (B) 313
(C) 315 (D) 318
‘The official language of the Union shall be Hindi in Devanagari script’

This provision is mentioned under which Article of Indian constitution?

(A) 340 (B) 341

(C) 342 (D) 343
Proclamation of Emergency is made by

(A) prime minister (B) home minister
(C) vice president (D) The president

The National Institution for Transforming India, also called NITI Aayog, was formed via
a resolution of the Union Cabinet on

(A) January 1, 2015 (B) January 1, 2016

(C) January 1, 2017 (D) January 1, 2014
Chairperson of NITI Aayog is

(A) finance minister- (B) home minister

(C) planning minister (D) Shri Narendra Modi

For NITI Aayog, read the following statements

1. It is the premier policy ‘Think Tank’ of the Government of India, providing both
directional and policy inputs.

2. It is designing strategic and long term policies and programmers for the Government of
India,

3. NITI Aayog also provides relevant technical advice to the Centre and States.
(A) 1 and 2 are correct. (B) 2 and 3 are correct.

(C) 1, 2 and 3 are correct. (D) 1, 2 and 3 not correct.

What is/are the main contribution/s of NITI Aayog:

(A) creation of— Team India Hub

(B) creation ofKnowledge and Innovation Hub.

(C) developing itself as a State of the Art Resource Centre

(D) all above.
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125.

126.

127.

128.

129.

130.

131.

132.

How many Sustainable Development Goals are decided by NITI Aayog?
A)11 (B) 13

©) 15 D) 17

‘Samavesh’ include

1. Extend and deepen institutional capability.

2. Enable stakeholders to fulfill their role in transformative policy reform
3. Promote knowledge sharing and information exchange

4. Link Policy with Practice

(A)1and2 (B)2and 3

(C)3and 4 (D)1,2,3 and 4

Under RCPS Act2013 public authority is defined under which section of RCPS Act 2013
of?

A1 B)2c

©2f D)21

Right to Delivery of services under RCPS Act 2013, is mentioned in chapter
A1 (B) 2

©)3 (D) 4

‘Acknowledgement of complaint by receipt thereof ‘this provision is mentioned under which
Section of RCPS Act 2013

A7 (B) 6
©>s (D) 4

Action to be taken by Grievance Redresal Officer is mentioned under which section of
RCPS Act 2013?

(A6 B)8

10 (D) 12

Appeal to Designated Authority is mentioned under which chapter of RCPS Act 2013?
(A)2 B)3

©4 D)5

With in how many days, Appeal isto be filed with State level Authority under RCPS Act
2013?

(A)20 (B) 30
(€) 45 (D) 60
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133.

134.

135.

136.

137.

138.

139.

‘Burden of proof tobe onGrievanceRedresal officer’ this provision is mentioned under
which section of RCPS Act 2013??

(A) 20 (B) 21

(©)22 D) 23

RTTI Act extends to the whole of India except

(A) the State of Jammu and Kashmir (B) Maharashtra

(C) Punjab (D) kerala

The definition of ‘“‘competent authority’’ is mentioned under which section of RTI Act 2013?
(A)2E (B)2D

©)2C D28

‘Obligations of public authorities’ are mentioned under which chapter of RTI Act 2013?
A1 (B) 2

©)3 (D) 4

6(1) A person, who desires to obtain any information under this Act, shall

1. make a request in writing or through electronic means

2. the application may be in English or Hindi or in the official language of the area in
which the application is being made,

3. accompanying such fee as may be prescribed,

From the above mentioned statements, which statement is correct
(A)1and 2 (B)2and3
(C)land3 MD)1,2and 3

‘Information shall ordinarily be provided in the form in which it is sought unless it would
disproportionately divert the resources of the public authority or would be detrimental to
the safety or preservation of the record in question.’

This provision is made under which section of RTI Act 2013?
(A) 6 (B)7(9)
©)8 (D)9

Notwithstanding anything contained in this Act, there shall be no obligation to give any
citizen, -

The list of the items is mentioned under which section?
(A)7 B)8
©)9 D) 10

ARF -A] 20 [Contd.



140.

141.

142.

143.

144.

145.

146.

147.

The provisions for ‘The Central Information Commission’ arementioned under which
chapter of RTI Act 2013?

(A) CHAPTERIi (B) CHAPTER III
(C) CHAPTER iv (D) CHAPTER v

Under section 12, The Central Information commission shall not consist of:
members? Fill in the blank.

(A)8 B)9

©)10 (D) 11

The Chief Information Commissioner and Information Commissioners shall be appointed
by

(A) The President

(B) prime minister

(C) law minister

(D) the Leader of Opposition in the Lok Sabha

The Chief Information Commissioner shall hold office for how many years?
A3 (B) 4

©)s D)6

Powers and functions of the Information Commissions, appeal and penalties are mentioned
under which chapter of RTT Act?

(A) CHAPTER YV (B) CHAPTER 1V
(C) CHAPTER VI (D) CHAPTER VII

UNDER SECTION 19(4)an appeal is preferred relates to information of a third party,
theInformation Commission

1. Shall give a reasonable opportunity of being heard to that third party.

2. Need notgive a reasonable opportunity of being heard to that third party

(A) 1 statement is correct. (B) 2 statement is correct

(C) 1 and 2 both statements are correct (D) 1 and 2 both statements are not correct
the national anthem of India ‘Jana Gana Mana’ was first sung at

(A) Calcutta (B) Delhi

(C) Mumbai (D) Kanpur

The first meeting of Indian National Congress was held in Bombay in1885 A.D. under the
leadership of _

(A) dada Bhai Navroji (B) voywmwsh Chandra Banerjee
(C) Gandhiji (D) Motilal Nehru
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148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

Which among the following is India’s first Oil refinery?

(A) vishakha refinery (B) baruini refinery

(C) digboi refinery (D) guwahati refinery

Who among the following had drafted the ‘“Declaration of Independence’ pledge in 1930?
(A) motilal Nehru (B) mahatma Gandhi

(C) Jawahar lal Nehru (D) C R Das.

Who was the advocate at INA trials?

(A) balubhai Desai (B) Asaf Ali

(C) Subesh Chandra Bose (D) C Rajgopalchari

Who was known as conscience-keeper of Gandhiji.

(A) C Rajgopalchari (B) Rabindra nath Tagore

(C) sardar vallabhbhai Patel (D) G K Gokhale

Who was the chairman of the drafting Committee of the Constitution?

(A) J B Krupalani (B) Rajendra Prasad

(C) Jawarhar Lal Nehru (D) B R Ambekar

What was the ultimate goal of Gandhiji salt Satyagraha?

(A) repeal of salt laws (B) curtailment of Government Powers
(C) economic relief to common man (D) Purina swaraj for India

The Quit India movement was launched by the National Congress after the failure of the
(A) cripps mission

(B) simla conference held at the instance of Governor General Lord Wavell

(C) None of these (D) None of the above
The Rowlett Act was passed during viceroyalty of

(A) Hardingell (B) Chelmsford

(C) Reading (D) Mintoll

Who among the following Indian ruler established embassies in foreign countries on modern
times?

(A) Haider Ali (B) Mir Qasism

(C) Shah Aalam II (D) Tipu Sultan

Who among the following Englishman, first translated Bhagavad Geeta into English?
(A) William Jones (B) Charles Wilkins

(C) Alexander (D) John Marshall
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158.

159.

160.

161.

162.

Simon commission of 1927 was boycotted because

(A) there was no Indian member in the commission

(B) it supported the Muslim League.

(C) congress felt that the people of India are entitled to Swaraj
(D) therewas differenceamong the members.

Who was the leader of ghaddar party?

(A) Bhagat singh (B) lala Hardayal
(C) bal gangadhar Tilak (D) V D Savarkar

Which one of the following leaders, was dismissed by the British from the Indian Civil
Services?

(A) Satyendranath Tagore (B) Surendranath Banerji
(C) R C Dutt (D) Subesh Chandra Bose.

Which one of the following statements about the revolutionary from Karnataka -
Basaveshwara —is/are correct?

1. He established the Anubhavamantapa,which was a common forum for all, to discuss the
prevailing socio-economic-political problems

2. He put forth the concept of equal distribution of wealth to the society
Select the correct answer using the code given below:

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

With reference to the Real Estate (Regulation and Development) Act, 2016 consider the
following statements:

1. Promoters of projects that are ongoing on the date of commencement of the act are
exempt from registering themselves with the Real Estate Regulatory Authority

2. Punishment for violations of certain provisions of the act includes imprisonment

3. The account to be maintained by the promoter, in order to deposit 70 % of the collections,
is a separate bank account and not an escrow account.

Which of the statements given above is/arecorrect?
(A) 1 only (B)1 and 2
(C) 2 only (D)2 and 3
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163.

164.

165.

166.

167.

168.

The selection of the Chairperson and the members of Lokpal shall be through a Selection
Committee consisting of

1. Prime Minister

2. Speaker of Lok Sabha

3. The Chief Justice of India

Select the correct answer using the code given below:

(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only MD)1,2and 3

Global Warming Potential (GWP) is a measure ofhow much energy the emissions of one
ton of a gaswill absorb over a given period of time, relative tothe emissions of one ton of

(A) Methane (B) Nitrous Oxide
(C) Ozone (D) Carbon Dioxide

According to Adam Smith, individuals and businesses can earn income from three sources.
Of these, the the easiest and least risky type of income one can earn is

(A) Profit (B) Wages

(C) Rent (D) Botha and b

The ‘Zero Effect Zero Defect’ idea aims to achieve

(A) Production mechanisms wherein products have no defects

(B) Production processes that are ensure maximum safety for shop floor workers.
(C) Both (A) and (B)

(D) Neither (A) nor (B)

The Union Ministry of Human Resource Development recently launched ‘Vidya Veerta
Abhiyan’, under which a ‘Wall of Valour’ will be built in educational institutions across
the country.

This ‘Wall of Valour’ will depict

(A) Paintings of battle and war that Independent India has witnessed

(B) Portraits of socio-religious reformers belonging to 19th century India
(C) Portraits of Param Vir Chakra (PVC) decorated soldiers

(D) Portraits of hitherto lesser-known freedom fighters such as Goparaju Ramachandra
Rao

The web portal ‘Tarang Sanchaar’ will disseminate information regarding
(A) Mobile towers and their Electro-Magnetic Frequency radiation emission compliance
(B) Developments in domestic telecommunication policies

(C) The status of network connectivity of public mobile network base stations in any region
across India

(D) Status of complaints made by consumers
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169. The landmark ‘Windhoek Declaration’ is related towhich one of the following issues?
(A) Ross Sea preservation
(B) Press Freedom
(C) Comprehensive Convention on InternationalTerrorism
(D) Protection of coral islands
170. The Petroleum Planning and Analysis Cell
1. Is attached to the Ministry of Commerce and Industry
2. Periodically computes the international crude oil price of Indian basket
Select the correct answer using the code given below:
(A) 1 only (B) 2 only
(C)Both 1 and 2 (D) Neither 1 nor 2
171. The Central Sector Scheme ‘SAMPADA’ will

(A) Develop the food processing sector in the country (B) Reduce the levels of
socio-economic inequality by investing in social infrastructure in and around slum-areas

(C) Promote the development of a mature and organised real estate market in India
(D) Be the first of its kind in which State Government machinery will be responsible for its
implementation

172. Which of the following is/are some of the features/highlights of the National Steel Policy
2017?

1. It envisions India surpassing China in total crude steel production capacity by 2030-31
2. The major segments that will consume steel will include housing and automobiles

3. India’s Steel manufacturing sector will reduce dependence on coking coal as a raw
material

Select the correct answer using the code given below:

(A) 1 and 2 only (B) 2 only

(C) 1 and 3 only D)1,2and 3
173. The beneficiaries of the South Asia satellite do not include

1. Pakistan 2. Bhutan 3. Myanmar

Select the correct answer using the code given below:

(A) 1 only (B) 2 and 3 only

(C) 1 and 3 only D)1,2and 3
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174.

175.

176.

177.

178.

Services that the GSAT-9 will provide include

1. Weather forecasting

2. Assistance in disaster response

3. Mapping natural resources

Select the correct answer using the code given below:

(A) 1 only (B) 1 and 2 only
(C) 2 and 3 only MD)1,2and 3

The Speaker of a State Legislative Assembly canvacate his office if he resigns by writing to
the

(A) Governor (B) Chief Minister

(C) Leader of the House (D) Deputy Speaker

Which of the following tribes is/are correctly paired with the states they reside in?
Tribes States

1. Soliga : Madhya Pradesh

2. Lalung : Assam

3. Chenchu : Andhra Pradesh

Select the correct answer using the code given below:

(A) 1 only (B) 2 and 3 only

(C) 1 and 3 only MD)1,2and 3

Of the three areas under which data was collected for Swachh Survekshan 2017, maximum
weightage was assigned to

(A) Independent/direct observation

(B) Citizens’ feedback

(C) Interactions with municipal body/response of municipal body

(D) Maximum and equal weightage was assigned to both a and b

With reference to the Indian Star Tortoise, consider the following Statements:
1. It has recently been classified as a critically endangered species by IUCN

2. The Chinnar Wildlife Sanctuary in Kerala is the only rehabilitation centre for this tortoise
in the country

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both 1 and 2 (D) Neither 1 nor 2
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179.

180.

181.

182.

183.

184.

These United Nations rules are also known as ‘Nelson Mandela Rules’. These are related
to the

(A) Truth and reconciliation missions

(B) Equal treatment of nations in the general assembly

(C) World conference against racism and related intolerance
(D) Treatment of prisoners

The Constitution (123rd Amendment) Bill, 2017seeks to give constitutional status to the
National Commission for Backward Classes (NCBC). This billwill not

(A) Withdraw the power of the NationalCommission for Scheduled Castes to examine
complaints and welfare measuresrelated to the backward classes

(B) Permit the Parliament to amend the list ofbackward classes
(C) Repeal the NCBC Act, 1993

(D) Grant the NCBC powers of a civil court whileinvestigating or inquiring into any
complaints

India was recently elected unanimously as the President of which one of the following
organisations of the United Nations?

(A) Human Settlements Programme (B) Human Rights Council
(C) Institute for Disarmament Research (D) None of the above
SmartGram’ is an initiative of

(A) Ministry of Skill Development and Entrepreneurship

(B) Ministry of Agriculture and Farmers’ Welfare

(C) Ministry of Panchayati Raj

(D) Rashtrapati Bhavan

Which of the following ocean and atmospheric phenomena is/are known to affect the
Ind ian Monsoon system?

1. El Nino 2. Indian Ocean Dipole 3. Madden-Julian Oscillation
Select the correct answer using codes given below:

(A) 1 only (B) 1 and 2 only

(C) 3 only D)1,2and 3

The principal judicial organ of the United Nations isthe

(A) Permanent Court of International Justice

(B) Permanent Court of Arbitration

(C) International Court of Justice

(D) International Centre for Settlement ofInte rnational Disputes
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185.

186.

187.

188.

189.

190.

191.

An ‘ICT 2025 Vision Document’ was recentlylaunched by the

(A) Election Commission (B) Central Bureau of Investigation
(C) Comptroller and Auditor General (D) Supreme Court

Who was the first Indian to win the World Amateur Billiards title?

(A) Geet Sethi (B) Wilson Jones

(C) Michael Ferreira (D) Manoj Kothari

India won its first Olympic hockey gold in...?

(A) 1928 (B) 1932

(C) 1936 (D) 1948

What isthe Vision of the Knowledge Consortium of Gujarat?

1. to generate and provide ideas and paradigms for achieving excellence in education

2. educational management and policy framing for education in general and higher
education in particular.

(A) only 1 (B) only 2

(C) 1 and 2 both (D) None of above

Under MHRD how many Apex Level Bodies for Higher Education are working?
(A)S (B)6

o7 D)8

Read the following statements for The Council of Architecture (COA)..

1. it has been constituted by the Government of India under the provisions of the Architects
Act, 1972,, which came into force on 1st September, 1972.

2. The Act provides for registration of Architects, standards of education, recognized
qualifications and standards of practice to be complied with by the practicing architects.

3. The Council of Architecture is charged with the responsibility to regulate the education
and practice of profession throughout India.

(A) 1and 2 are correct (B) 2 and 3 are correct
(C) 1and 3 are correct. (D) All are correct
How many Central Universities are there in the India?

(A) 40 B) 41

(©) 42 D) 43
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192. Place, where IIM is not located?
(A) Ahmedabad (B) Visakhapatnam
(C) Bangalore (D) jaipur

193. Dental Council of India is not entrusted with which objectives ?

1. Maintenance of uniform standards of Dental Education — both at Undergraduate and
Postgraduate levels.

2. inspections/visitations of Dental Colleges for permission to start Dental colleges, increase
of seats, starting of new P.G. courses

3. To prescribe the standard curricula for the training of dentists, dental hygienists, dental
mechanics and the conditions for such training;

4. decide the fee structure for different courses.
A1 (B) 2
O3 (D)4
194. Indian Institute of Science is not situated at which place?
(A) Bengaluru (B) bhopal
(C) chandigarh- (D) Ahmedabad
195. What is the Mandate for University Grant commission?

1. providing funds and that of coordination, determination and maintenance of standards
in institutions of higher education.

2. Promoting and coordinating university education.Determining and maintaining
standards of teaching, examination and research in universities.

3. Framing regulations on minimum standards of educationMonitoring developments in
the field of collegiate and university education; disbursing grants to the universities and
colleges.

4. Serving as a vital link between the Union and state governments and institutions of
higher learnin,. and advising the Central and State governments on the measures
necessary for improvement of university education

(A)1,2,3and 4 (B)1,2and 3

(C)2,3and 4 D) 1,2,and 4
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196.

197.

198.

Read the following statement for the All India Council for Technical Education (AICTE)

1. Objective=0 Promotion of Quality in Technical Education.o Planning and Co-ordinated
Development of Technical Education System.o Regulations and maintenance of Norms
and Standards.

2. Vision To be a world class organization leading technological and socioeconomic
developmentof the Country by enhancing the global competitiveness of technical
manpower and by ensuring high quality technical education to all sections of the society.”

(A) 1 statement is correct (B) 2 statement is correct
(C) 1and 2 statements are correct (D) 1and 2 statements are not correct

1. The National Council for Teacher Education as a statutory body came into existence in
pursuance of the National Council for Teacher Education Act, 1993 (No. 73 of 1993) on
the, 7th August,1995.

2. The main objective of the NCTE is to achieve planned and coordinated development of
the teacher education system throughout the country,

3. the regulation and proper maintenance of Norms and Standards in the teacher education
system and for matters connected therewithto

4. To control andminstration and fee structure of training institute .
(A) 1is correct (B) 2 is correct

(C) 3 is correct (D) 4 is not correct.
The purpose of RashtriyaUchchatarShikshaAbhiyan (RUSA) is:
1. to of control,administer and punish institute in case of failure

2. Improve the overall quality of state institutions by ensuring conformity to prescribed
norms and standards and adopt accreditation as a mandatory quality assurance
framework.

3. Usher transformative reforms in the state higher education system by creating a
facilitating institutional structure for planning and monitoring at the state level,
promoting autonomy in State Universities and improving governance in institutions.

4. Ensure reforms in the affiliation, academic and examination systems
(A) 1is not correct (B) 2 is correct

(C) 3is correct (D) 4 is not correct.
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199.

200.

For Higher Education Ranking Agencywhich statements are coorect?

1. MHRD consultation workshop in August 2014 to discuss the idea of developing an Indian
ranking

2. The Core Committee divided HE institutions into two categories.

3. The Core committee identified the domains to be considered for ranking
(A) 1 and 2 are correct (B) 2 and 3 are correct

(C) 1and 3 are correct (D) 1, 2 and 3 are correct

For Right to Education read the following statements;

1. The Constitution (Eighty-sixth Amendment) Act, 2002 inserted Article 21-A in the
Constitution of India to provide free and compulsory education of all children in the age
group of six to fourteen years as a Fundamental Right.

2.under Article 21-A, every child has a right to full time elementary education of satisfactory
and equitable quality in a formal school which satisfies certain essential norms and
standards.

3. Article 21-A and the RTE Act came into effect on 1 April 2010
(A) 1 and 2 are correct (B) 2 and 3 are correct

(C) 1 and 3 are correct (D) 1, 2 and 3 are correct
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